H & 0l & AHS B Ml A

2A: ADE
3

HH: Mo
el 3ESMoTctHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AIEFE D 6,176,302 6,229,463 A53,161
= 110,714
Al 6,065,588
et erdst 6,155,602 6,206,040 A50,438
== 110,714
Al 6,044,888
FESaoEeRR 1,575,191 1,417,533 157,658
ZN% ZUY S4Y AF2Y 856,281 828,19% 28,086
201 Ler23 | 830, 169 771,843 58,326
02 35244l 830,169 771,843 58,326
ONELENY HBH2 579,051
o=t RSed 3HH dEH=z
300,0002 1532| & * 12 560,800
2R CIHA HEH AEE
1,077, 1202 x22| H* 122 25,851
ox1Z QY AB=
200,000 x12| &+ 122 2,400
Oy oy Letlst d8slds
1,300 x1753| 6123 2,730
OR&elgul(etolmol) aldes
9,560,000& ~12& 114,720
OBEESAL(MN) |22l
631,928,000 *8% 50,555
OAFY Lot FAl2cll
48,377, 0002 8%/ 12O 2 9 3 2,903
OURY ot K2l
46,640,000 *8% 3,732
OSSL DAl &2 AIAE 7 X2eld]
40,590,000 *8% 3,248
OFLLRAIAE(IPS) SXI2elH]
33,990, 0002 8% 2,720
OUE SSHEHI(VPN) sXI2teld]
365,034,000 * 141 %8% 29,203
OAME H3s R 02 !X/l
30,000,000 14! +8% 2,400
ORAEY SRAIAEWIPS) K22l
52,580,000 8% 4,207
OSEIE(2HOITOl) AIAES SXI2telt]
187,000,000 *8% 14,960
OUEAZD E2MO AIAE RXI2cldl
68,400,000 *10% 6,840
OFHAIOIE XHE AAE SX|2elH]
50,600, 0002 *10% 5,060
OREEH EXAAE SX2el]
98,000,000 8% 7,840
308 XXM SOIA 26,112 56,352 230,240
07 AX 2L FE= 26,112 56,352 /30,240
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A ADIEEEL
HE: mMosolzE
ol JESNelmetas EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2AE #ANR ®st ABZ
50,0003 %1000 A 500
OAISHZAL & 2SN gRFNE I
=X 2,935
ONSIHAl, SHNERES S 1,495
om=Hl 2 FAl2eldl
120,000& ~ 12& 1,440
Od=sgday 0l dd)|2 24 d&
= 100,000& * 122 1,200
402 2I2F X201 & 110,900 102,000 8,900
01 SIS ASE R (RHMITHR) 110,900 102,000 8,900
OC0IS YSAIAE &X 30,000
Onte LEAAY HXI(F2=IAA) 51,900
OdEZ N ALSE 29,000
o=gEE Ot ¥ 4X 3,000
ogctd Ot ¥ X 3,000
od gt 0= ¥& £X 3,000
o0j&td Ot BT ZX 5,000
os0td Ot B2 X 5,000
otls Al Ot B8 £X 5,000
ottE S AHE 08 Y= £X 5,000
AHMS SMY 24 67,942 46,670 21,272
201 el 46,942 35,670 1,272
2 352484l 46,942 36,670 1,272
OIPLIZAIAE R X2t/
291,400, 0002 *8% 23,312
ORFXMAEXI(UPS) S22l
93,619,000 8% 7,490
OLF3t SHEMAFXI(PS) =EX wH 16,140
od=2SAA UPS =X WA
300,000 =407HK 12,000
oI XA 2 UPS S WAl
345,000 * 1204 A 4,140
202 04| 1,000 1,000
01 2LHA b 1,000 1,000
Od=2S4 |FANE+ O
20,0002 58 x102] 1,000
401 Al HIZL 01| 20,000 10,000 10,000
01 Al&H| 20,000 10,000 10,000
OAR4 c|2E8d JESHZ AIESA
5,000,000& 42| 20,000
ANEIEEMEIAME 174,685 218,245 A\43,560
=S 21,714
Al 152,971
SHOIX2E 68,734 86,934 18,200
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2A:

Hu: MPsioizts)
e MUEEMBIARS EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
201 er23 | 68,734 66,934 1,800
01 AlR2teldl 450 450 0
OAIZHIOIX =0Ie AlEsE
37,5002 * 124 450
02 S3=gHl 68,284 66,484 1,800
OAIZHIOIXl S/W = Xl2teld] 43,648
OAIZHIOIXI H/W = Xl2teld]
127,312,000 *10% 12,732
OAIZHIOIX] 2 &AM A(MS) AHSZ
550,000 * 12 6,600
OAISHOIX & A2 RE S 2OIS0IAH
A AEE 50,0003 x 122 *2H 1,200
OAIZHIOIXl &Eer AABA(SSL) 7Y
910,000 14| 910
OAIZHOIXl HIEE XHHAIAY FX2e
Bl 31,940,000& *10% 3,194
d2stusgdst 21,570 20,220 1,350
201 Zet=3h] 11,570 11,220 350
01 AtR2t2|HI 11,570 11,220 350
OAZEES NS Wil 7
15,0002 %308 *107| 4,500
ONAUZBSNS D 7Y
15,0003 %30& *77| 3,150
OMBEE T SAE
40,0002 =2A1 25 +77| 2,800
Ot ESY JHl+d H 423 728 1,120
301 2= 10,000 9,000 1,000
11 AALEIXIE S 2,000 2,000 0
OA2IEE5t S| d23t=20] AH24
10,0002 x2& %102 %107 2,000
14 IIEt2d3 8,000 7,000 1,000
OAlgl H25tus ZAME
40,0002 x2A| 2++ 104+ 1021 8,000
23022 12,000 12,000 0
201 ZB=Eh] 9,450 9,450
01 AtR2t2|HI 450 450
OZ=23a0iE 82S(RAHUAFH S) S+
NES 50,0003 *32|*374 A 450
2 s5=234l 9,000 9,000 0
OZ=3s0i2 SHOIX(UY, S0, 55) Xl
2telH 30,000,000 *10%*37H 2= 9,000
301 EtE2 N = 2,550 2,550
11 #AIAMHIXIZ S 2,550 2,550
OZ=3lt= f13 8, 22k, ES2E 22
ELMES = g 50,0003 x4 *23|x3H 4~ 1,200
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M A

X XH -
o=

o2l AR EEMHIANS (CHol: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
O&UW 2230t EHHEH &N
50,000 x3Z 3 *30H 2 1,350
Sk = R PN E =P 72,381 66,715 5,666
= 21,714
Al 50,667
307 gIzHol 72,381 66,715 5,666
= 21,714
Al 50,667
02 QIRHEAAIHE X 72,381 66,715 5,666
OF2s0te Z2Od2eXt |4 72,381
= 21,714
Al 50,667
gab 2t 2el 3,513,844 3,216,543 297,351
& 89,000
Al 3,424,894
CCTV SE2NdYH 22 & Sl 2,001,8%4 2,049,543 NA7,649
201 Lt | 1,231,844 1,169,989 61,905
01 At 22|l 7,200 8,100 A900
OSE2HMEE AIRY 2| 4,200
OSE2HMHE MAEH| 22 3,000
02 2324l 1,224,694 1,161,889 62,805
oy & Se2tidE sXl2el 49 459,094
OBZE CCIV 2323 765,600
oXI|R2 (85014 ) 102,000
03l (700014 ) 663,600
307 QI2H0| M 620,000 679,554 A59,554
05 QIZtRES 620,000 679,554 AB9,554
OCCTVE 2 HIdE 24A12F 2LIHE &9 620,000
401 AIEHIZL 28I 150,000 200,000 250,000
01 Al&Hl 150,000 200,000 /50,000
OCCTVE S 2HMIMH SAMEEX &XI 150,000
2HE CCTV &Xl X& 30,000 440,000 A410,000
& 9,000
Al 21,000
401 AlEHIZ 20| 30,000 440,000 A410,000
= 9,000
Al 21,000
01 Al&HI 30,000 440,000 A410,000
Oerdst gr2Hel 0TV Z-A 30,000
& 9,000
Al 21,000
SHs L-E CIV £X 1,082,000 727,000 355,000




2A:

B FEsolzs
el S 2H 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 570,000 480,000 90,000
01 Al&H| 570,000 480,000 90,000
ogds v £X 200,000
Oxlerolzet xS ?igt dEE 0TV £X 300,000
OMESZ ML ALY 70,000
028 s CCTV &X 30,000
o= CCTV &Xl 20,000
oltS ZEE CCTV &X 20,000
402 2IZtA=01d 512,000 247,000 265,000
01 QI XHE AL E R (KEHITH) 512,000 247,000 265,000
Ott=g8E v £X 295,000
Ont=gdE v JIs=2d 132,000
OdE I ALS 85,000
o2& s CCTV &Xl 5,000
o2 SE Ol Y&EE CTV &1l 10,000
o€ & O0t= (CTV €X 5,000
og &t CCTV £Xl 5,000
o0 &tH CCTV & X 5,000
odj&td OI=2EE CCTV &X 5,000
os0tH CCTV £Xl 5,000
o=z & CCTV £Xl 10,000
o= CCTV £X 5,000
oELH OISY-E CTV &Xl 5,000
oM SAIZ(EE13 =& FH) CCIV &X 5,000
o s CCTv &Xl 5,000
s LEE (CTV &X 5,000
oSS LEE (CTV &X 5,000
o4t F OIS CCTV &XI 5,000
LHE CIV &% XJ(EHIExX) 400,000 0 400,000
s 80,000
Al 320,000
401 AIEHIZ SR OHYI 400,000 0 400,000
[ 80,000
Al 320,000
01 Al&HI 400,000 0 400,000
OggHE CIVEX 400,000
= 80,000
Al 320,000
Y Zt=2g st 891,832 1,353,719 N461,887
SAEHI S 188,873 40,500 148,373
201 er2 3| 87,973 0 87,973
01 AtR2t2|HI 87,973 0 87,973




A ADIEEEL
mm: mosioias
iy H= SRS ko) feges el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZUREMTAAAE T2 2(50H/12)
ctoldiA 3,518,900& x25= 87,973
405 KHoHFSHI 100,900 40,500 60,400
01 ML ESFSHI 100,900 40,500 60,400
OAl 82 XI& PC &
1,120,000 +30CH 33,600
OAl 32 XI& Z2LIE 7
230,000 »30CH 6,900
OSCSEMEAAIAE A 14
60,400,000& x14] 60,400
HHHEANAEEE 269,164 1,019,378 AT750,214
201 fer= 3| 208,592 282,408 NT73,816
01 AtR2tc|HI 171,448 192,050 20,602
OHHYRE AEATERN =208 2 171,448
OVS-GAS AZHALS & HI<f
250,000 »450= 112,500
oS QUIA HZFAIZH A<t
88,4303 x450= 39,794
OAdobe CCT HAZFAFE R A
1,178,000& x5 5,890
OAdobe HEE&F AZAIS T H
500,000& x6= 3,000
0L EXASE L 51,3208 %200= 10,264
02 S3=gl 37,144 90,358 N53,214
OnIAX AIAE SW sXI2teldl
58,300,000 *10% 5,830
ODIAIM AIAES HW S Xl2teld]
29,622,000 8% 2,370
O2LICIAIAE WY & =HEH| S/W X
2e[HI (&) 93,200, 0002 *10%+0.5& 4,660
O2LICIAIAE el &1 =HEH| HW |1
2eldl (A7) 112,090, 000& +8%+0.5& 4,484
OHIYAFE PC FAl2tell
33,000 =600CH 19,800
202 04l 28,560 28,560
01 =LHAHI 28,560 28,560
OADIEZE HRFX O]
140,0003x17&+ 128 28,560
203 =4l 1,000 1,000
03 A= PR FZ| 1,000 1,000
OANIEZEE N A=A 1,000
308 XtXIEMSO0IE 31,012 17,500 13,512
11 S [2S0 e 4 A AS A 31,012 17,500 13,512
O2U2tAIAE AISXH 2SR (RE3) 17,500
O2LIctAIAE 24 2.0 =Xl 13,512
ANZREEESIIBAA- AR 106,960 106,173 787
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A ANEFEDN
M FESAHAS
Chel: HEZES2A LS EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
308 AHXIHM SO & 106,960 106,173 787
11 312 S0HeHE &R A LI 106,960 106,173 787
O3S718 #atEdl sXl2eld| 100,360
OXYHESSHEAIAY FA2Eld]
(2€32) 6,600
HEE0o J|gt 25 2 29 L3t 326,835 187,668 139,167
201 B2 AL| 283,835 186,668 97,167
01 ArR22ltl 206,000 125,400 80,600
Ob0lHAA HHATZ=2 2 2] 49,400
ot PCE 27,5003 +1,600= 44,000
oMtH= PCE 540,000& *10= 5,400
OUWPCXIZ|0| iz T2 (2t0ldlA) 2
2 12,0003 *1,300= 15,600
OXsE XE2E HSAAE 25
110,000,000/ +14! 110,000
OFMY PHAUTLAET 5 FQ2E U
=X WA 31,000,000 14! 31,000
2 SE=29| 77,835 61,268 16,567
Odgsts sXl2eltl
34,000,000 *10% 3,400
Ot okd Rt S/ XI2eld]
15,500, 0002 *10% 1,550
OE0oHSB 22| AIAE S22l 1,784
OelEE H2&E & 2353 AIAE 72t
]l 53,346,000 x8% 4,268
oot L AHESH S/W X2l
182,438,000 *8% 14,59
OSgzaelAAE sX2eld|
54,120,000 *10% 5,412
Od it MHEUWESR A |Xl2teltl
149,944,800 x8% 11,99
OMeIEE EHI|IS2ACIAIAE KRl
95,060,000& *10% 9,506
OHLral gr2etsd| shl2eld]
38,778,000 *%% 3,491
OF LA 2N AXXI(UPS) S22l
47,890,000 8% 3,832
OMLIEESS A 2 It 18,000
202 Ot 1,000 1,000
01 =WO4bI 1,000 1,000
OHEEQ & JHIEEES HRFA 1,000
405 XHeHE S| 42,000 42,000
01 AL =ZFSHI 42,000 42,000
LS FYUSEAIAE WH
42,000,000 *14] 42,000
HYE2AAHI(ADEFED) 20,700 23,423 N2,723
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2A:

A0IEEE

M HAHRAZH|(ADEFHED)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 20,700 23,423 N2, 723
Jl=23H] 20,700 23,423 N2, 723
201 er23| 17,100 19,223 N2,123
01 At2teltl 17,100 19,223 N2,123
OSADI 2E(SAEX € &4, =8) 2,208
OdioIMEly 2g(28, Zel)
300,000& * 128 3,600
OJIEt AtR2t2HI 1,292
203 BR8] 3,600 4,200 A600
M EA2HER=AH 3,600 4,200 2600
ORNEgeE =AY 300,000& * 122 3,600




